
Page 1 of 2 
 

   

                                                                                                                                                                             

      Section - A (Each question carries 1 mark) 

 

1. In a garden, there are 8000 red and yellow flowers altogether. Out of these, 4235 are 

red flowers. To find the number of yellow flowers, which operation should we use? 

a) Addition     b) Subtraction 

c) Multiplication    d) Division 

 

2. The weight of a blue whale is 1246 kg. What will be its weight if rounded off to the  

nearest hundreds? 

a) 1300     b) 1250 

c) 1200      d) 1240 

 

3. How many lakhs make 1 million? 

a) Ten       b) Thousand 

c) One      d) Hundred 

 

4. Identify the greatest 6-digit number. 

a) 999988     b) 1000000 

c) 9999      d) 999999 

 

5. The cost of 4 air conditioners are 28,760, 27,860, 26,780, and  28,670. Which is 

the cheapest air conditioner?  

a) 28,760     b) 26,780 

c) 27,860     d) 28,670 
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                                            SECTION - B (Each question carries 2 marks) 

 

6) A machine, on an average, manufactures 2825 screws a day. How many screws did it 

produce in the month of January 2006? 

OR 

       6)   Find the sum of place values of 7s in 37475. 

 

7) Mahesh is famous cricket player. He has so far scored 7980 runs in the test matches. He 

wishes to complete 10,000 runs. How many more runs does he needs? 

8) Form the smallest and the greatest 5 - digit numbers using the digits given below. 

 

 7                 3                   6                  2                0 

 

 

                                               SECTION - C (Each question carries 3 marks) 

 

9) i) Write Expanded form of the numeral: 89,40,213 

ii) Write Roman numbers of the following 

 

                         87                              25                

 

             iii)   Write Hindu Arabic numeral of the following: 

 

                            XLI                            CC                           

 

10) Estimate the following difference by rounding to the nearest thousands: 

  28292 – 21496 

                                         OR 

       10) Estimate the following product by rounding to the nearest thousands: 

   5281 × 3491 

 

11) Rewrite the following numeral using commas according to the 

                i) Indian System of numeration.  

  ii) International System of numeration. 

               Write number names also according to both the systems.                        

 

                             2351784 

                                                     

 

-------    THE END   ------- 


